Answer on Question #54056, Physics Mechanics Kinematics Dynamics

a hollow sphere and a solid sphere, both having the same mass of 5kg and radius 10m
are initially at rest. if they are made to roll down on the same plane without slipping,
the ratio of their speeds when they reach the bottom of the plane, vhollow/vsolid will

be
Solution

According to the law of energy conservation for the hollow sphere
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:%mr2 Is the moment of inertia of a hollow sphere.

Then
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According to the law of energy conservation for the solid sphere
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where v, =rog; Joi :gmrz is the moment of inertia of a hollow sphere.
Then
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ANSWEr: v, 0. Veia = = = 0.917

http://www.AssignmentExpert.com/


ser
Уведений текст
http://www.AssignmentExpert.com/





